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GENERAL ENGLISH

Direction: (Questions 66-67) has a blank space with four options.
Select whichever preposition or determiner you consider the most
appropriate for the blank space and indicate your response on the
Answer Sheet accordingly.

66.
Can you pass sugar, please?

a)a

b) an

c) the

d.) No article

67.

Sohan is studying the university
a) in

b) at

C) on

d) from

Direction: (Question No: 68-71) Parts of the following sentence
have been given as options. One of them may contain an error.
Select the part that contains the error from the given options. If
you don’t find any error, mark ‘No error’ as your answer.

68.
Soon or later, our efforts will be rewarded

e a) Noerror
e D) Soon or later
e C) our efforts will



e d) be rewarded

69.

The eggs are warm into a suitable temperature for the larvae to
hatch from eggs.

a) are warmed for

b) is warmed at

c) are warmed to

d) No improvement required

70.
| am looking forward / to meets you / at the convocation party.

a) I am looking forward

b) to meets you

C) at the convocation party
d) No error

71.
| have not saw / your sister since she / came to this city.

a) your sister since she
b) came to this city

c) No error

d) I have not saw

Direction: (Questions 72-75) Select the most appropriate
meaning of the given idiom.

72.
He has to complete this task by hook or by crook




73.

a) By a narrow margin
b) By any means

c) By default

d) By mistake

I was going to inform him yesterday but got cold feet.

74.

a) | was going to inform him yesterday but couldn't do so
because | was no well.

b) 1 was going to inform him yesterday but couldn’t do so
because | go nervous and afraid.

c) I was going to inform him yesterday but couldn't do so
because of bac weather.

d) I was going to inform him yesterday but couldn't do so
because | thought differently about the matter.

The spy captured yesterday is a hard nut to crack.

75.

a) The spy captured yesterday is well-built.

b) The spy captured yesterday is really not a spy.

c) The spy captured yesterday is difficult to understand and
deal with.

d) The spy captured yesterday is patriotic to his country.

All through the debate, Raghu has been sitting on the fence.

a) All through the debate, Raghu appeared not at all
interested.

b) All through the debate, Raghu kept on shouting.



e ) All through the debate, Raghu was neutral and not taking
any side.

e d) All through the debate, Raghu kept on cracking witty
jokes.

Direction: (Question No: 76-79) Select the most appropriate option
to fill in the blank.

76.

I walked down the stairs, careful to be as quiet as
possible.

a) Orderly
b) furiously
c) cautiously
d) neatly

77.
It’s not possible to this house in this amount.

a) console
b) renovate
c) bleat

d) astonish

78.
My father home last week.

a) has gone
b) gone

C) go
d) went

79.



It was the last of the puzzle.

a) piece

b) priest

C) peace

d) pique

Directions: For Questions no. 80 to 85, a word/ phrase is given
followed by four options. You have to select the option which
explains the meaning of the word/phrase and mark the correct
answer in your answer sheet.

80.

Alma mater

e a) A private residential settlement
e D) A school you graduated from

e ) Matter pending in the court

e d) A kind of political declaration

81.

Genre

a) Generation

b) Related to genetics
c) Kind or style

d) Talent

82.

Faux pas

a) A socially awkward or tactless act
b) A social change

c) Collective bargaining

d) Common enemy



83.

Origami

a) Bird watching as a hobby

b) Art of folding paper into shapes
c) State of extreme pleasure

d) Public debate

84.

Rendezvous

a) An ltalian restaurant

b) A place where people meet

c) A passionate appeal from the citizens
d) A state of anarchy

85.
Cacophony

a) Silent place

b) Unpleasant noises
c) Fervent desire

d) Harsh words

Directions: For Questions no. 86 to 90, four words have been given
and one of those words is correctly spelt. You have to identify the
word with the correct spelling and mark the correct answer in your
answer sheet.

86.

e a) Exacutive



87.

b) Executive
c) Exicutive
d) Exeacutve

a) Alottee
b) Allote
c) Allotee
d) Allottee

a) Cosmopolitan
b) Cosmopoliton
c) Casmopolitan
d) Cosmopalitan

a) Superceed
b) Superseed
Cc) Supersede
d) Superced

a) Hinderence
b) Hindrance
¢) Hindarence
d) Hindrence



Direction: (Question Nos: 91-94) Select the option that can be
used as a one-word substitute for the given group of words.

91.
A short story with a moral

Memoir

b) Axiom

c) Biography
d) Parable

92.
A collection of selected writings of various authors

a) Trilogy

b) Sequel

c) Anthology
d) Etymology

93.
Extremely refined in dress, conduct and speech

a) Serendipitous
b) Sophist
c) Surreal
d) Sophisticated

94,
A person who flatters others for personal motives

a) Sententious
b) Sedulous
c) Sycophant
d) Scapegoat



95,

Directions: Questions no. 95 to 100 are based on the degrees of
comparison (positive, comparative and superlative). Fill in the
blanks with the most appropriate word/words from the given
alternatives and shade/blacken the corresponding circle
accordingly in your answer sheet.

The climate of Jaipur is--------------- than that of Shimla.

a) hot

b) hotter

c) hottest

d) None of the above

96.
Ajay reads the lesson------- than any other boy in the class.

e a) more loudly
e D) loudly

e ) more loudlier
e d) loudliest

97.
Alex is the----------- kid of the class.

e a)smart

e b) smarter

e C) smartest

e d) more smart

98.



This is the------- ever method that | have come across to solve this
problem.

a) easy

b) easier

C) easiest

d) more easy

99.

Ganga is the second---------- river of India.

a) long

b) longer

c) longest

d) more long

100.

No other metal is as------------ as lead.

a) heavy

b) more heavy
c) heavier

d) heaviest






